1/od?/ dp™dm™M1/Gevd

Ratio to ATLAS

-
<
I

[HEN
o
&

T

=
o
&

1077

[EEY

0.5

13000 GeV pp tt
| T I T I T I T I T | T I T I | ﬂ
L — =
— top . : 49
- P, (ATLAS semileptonic ttbar) 1@
L 1=
- — 0
L a
N
— 1o
—
—
— —
— Jo
L il —.=
_ @/ m 1
©
I _ 1™
— — <
_ — M
— Jdo
- 1O
(9]
— 1<
- B ATLAS - >%
- —A— Pythia 6.428 370 -G
-.8-- Pythia 6.428 391 s
— Pythia 6.428 default \E — <
IR ¥ Pythia 6.428 pro-q2o = 19
- )]
- 13
o
- -1 O
| . . . | . . L] &
:l T T T T [ T T |:
- 42
1
L —0.5
| . | . . |
0 500 1000

pt"= [GeV], m ™} in [550,700] [GeV]



	Contents
	Page 1


